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1. The precision error associated with the ADC used in our lab cannot be less than
a. 10/200/2*° Volts
b.20/200/2* Volts
c. 20/2% Volts
d.None of the above

2.The ADC used in the lab would output what binary value corresponding to -4?
a.111111111100
b.100000000100
c. 000000000100
d.111111111011
e.None of the above

3.A 2 bit ADC with a 0to 4 volt input signal range subjected to a 1.4 volt signal will
output a value. Assume this is a normal ADC with, error = %20
a.o
b.1
C.2
d.3
e.None of the above

4.To avoid aliasing the waveform Asin(2n100+n/2) which of the following
sampling rates is the slowest acceptable conversion rate?
a. 50 samples/sec
b.100 samples/sec
c. 150 samples/sec
d.300 samples/sec




